Program Peningkatan Prestasi Sains & Matematik 2009
Additional Mathematics Marking Scheme - Paper 2

Correction:
No. of solution= 2

Solution Marks Solution Marks
- =742 —
1. y=1-2x atau x=1—~é—~‘}i P 2.0) flx)=2x" ~hx—k
_of 2k
yz_x2+xy=11 —Z[x -Ex]—k
(I—Zx)z——x2+x(1—2x)=110r K1 A Y\ AL
-\ (- =2x2———x+(——) —(—-—) -k K1
’ ‘ 2
h2
y2+4y'—45=0 = Z(x—{-:—) ——k N1
x> =3x-10=0 1)
c1-2o0 o BN ko [
(x=5)(x+2)=0 or K1
-5y +9=0 =—4 N1
x=5x=-2 N1 k=-15 Ni
y==9,y=5 N1 B) f(x)=231
x+2x-8>0 Ei
5 x£-4,x22
. 7
13.a) T1=560+(7—1)81.2 Kl 4. @) LHS: cosecx — cos”x cosecx
=1047.20 NI 1 cos’x
560[(%)7 _1] Sifl?ﬁ sin x
b) §7= ——3———-——-—-— K1 . S Xx
21 y sinx K1
2 A = sinx
=18016.25 N1 b) N1
1.2 line
7
S, =—{2(560+(7-1)81.2
) S, G (7-1)81.2] K1 -
=5625.2
Diff =18016.25 —-5625.2 K1
=12391.05 N1 &U> X
2n
— 1
Shape of graph sin x
Min=-1, Max =1 Pi
Correct magnitud within P1
0<x<2x Pl
3x
J’“—‘"S“;r— Ni
Number of solution @ N1
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Correction:
No. of solution= 2


5. N1 . == N1
Q [19 133 J42 T48 | 6.0) ) SR =—x— y
Seen 20.5/7/ 12 Pl iy o0 =_£+1(_£_3y) K1
12-7 5 Y
01=205+ [ ] 10 p- K1 3
12 == _§(x+y) Ni
2
= 24,6667 or 24— 3
3 By ) —=lx+y)=-2mix+ '
Seen40.5/33/9 Pl ) 2(" Z) (_ Z) K1
36-33 3
=40. == N1
Q3_405+[ 5 ]10 m=
1
= 438333 or 432 i) 5 () =80 KI
6 K1 |
Inter-quartile range 43.83 - 24.6667 1 = f;_o or 13.33 cm N1
=19.1667 or 19— Nl —
6 L 7
6
7a) at(4,7) , x=4 , y=7 8 a)
= 7=42_¢ ©_[1_ [ 225 [ 400 [ 548 1625 [751] | NI
k=9 N1 1 |[051]060 [072(083{089 [098] | NI
when y=0 v
0=x%-9 Y
x =3 b) Refer graph
P@3,0) N1 Correct & consistent scale K1
4 3 All 6 points plotted correctly I}é%
b) Area= I (x* ~Ndx+ I(xz —9dx Line of best fit
3 4]
_ ¥ 4 ¥ 3 \
- {?—9:{' + _3"—935 K1 ¢) i)lz_"fm_.;.f_ P1
3 0 y k k
- 3%+i"13| KIKI| 1 _098-043
3 kK~ 750-0 K1
R S
= 21 unit NI k =13.6364 N
¢) whenx=0,y=0-9=_9
] .o ﬁ = X1
V= [+ ki | W =04
X p=5.8637 NI
2 0
= x[ﬁvi—+9 y] (Integrate + limit) | k1K1
9 10
= 121  amir? Ni
2
10




ocC 12
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9 q) _ 10 a) P is the midpoint of AC
: in30°  sin75° K1 _
sin30” sin75 " or P[(’”’z}[«v 5)}:(0,—1) K1
0C= % 2 2
sin 75% x5in 30° N1 C(-2,3) Ni
= 62117 cm or
or  cos75® =M 1(6)+3x )+3y]_
P , ©, -1} K1
0 1+3 1+3
OC=2(12xcos 75") = 62117
: D(-2,-2) | N1
b) 8, =12(60x 2~
) S ( XISO)
=12.568 cm or K1 —2—(-1) 1
- ) b) m= __._(..........lz-_. K1
S ixc =6.2117x(210><1800) -2-0 2
o= 22,7700 ecm y-(=2) 1 K1
Perimeter = 12.568 + 22,7700 Kl 2 3
= 35338 cm N1 *
¢) Area of sector O4BC 2y=x-2 NI
- 1 2 T
2 G2UTY @10x 125 Kl ¢) Midpoint (0, —~ ) 1
= 70.7203 cn®. \ 2 .
ZOPC =30° Pi m= - m= K1
Area of segment A0 4 .
0 _ N1
= 2022EL, 7 sin30%) 1Kl ym3* T3
2 180 0
= 1.704 cm
Area of shaded region
= 70.7203 —2(1.704) K1
= 67.3123 cm?. N1
10
Hai 1 5 12a)whent=0,
a} i) P=- 477 s=53F-2@3F+p=0 K1
1\2(5)8 ' p=9 NI
=n=1c(2]]2 K1
=2 C2[6] (6J ”=%=1°t_6’2 K1
= 0.2907 NI b) .
i) P(X<2)= a=—=10-12r=0 K1
= P(X = 0)+ P(X =1)+P(X = 2) dt .
5 10 1Y'5 9 ==
= (—) + IOCI(-J(-—] + 02907 | KIKI 6
6 6 6 _103y 63y
= 0.7752 NI Vinax —10(5)— (g) K1
) 1
B) X ~N(45,25%) = 4- N1




i) P(X >40) ds 2
€) v=—=10r-6:2=0 ©
_p (Z>40—45 K1 dr 1
25 ;=5
=P(Z>-02)=0.5793 3
0.5793 X 1000 ~ 579 students N1
i) PX>m)=0.16 5 17
45 ==, §= 135,}- or
PlZ> =0.16 K1 3
25 =2, s= 13 K1
7 17
d=13-1 +(13-L _13)
m=45  0.994 27 27 K1
25 Kl = 14-Lm
m = 69.85 (accept 70) | N1 27 Ni
10 10
134a) 29= -;-(6)(10)sin £DCB K 14 a) Eit(100) =110 —
X
sin ZBCD = 0.9667 . x=21.82 /Or?Kl
_ 0
ZBCD =104.84 "9“%6 (100) = 130
b) BD*=62+ 10>~ - Tz=1235 2or
2(6)(10)cos 104.84° or TNt
= 166.7345 18
BD = 129126 Ni y= 1—2—'(100) (2 Ans, correct)
) ] ] = 150
12.9126 9.5 Byi) D iw =110(230) + 116(520) +
£BAD =70.97° N1 150(380) + 130(670) + Ki
ZBA'D =106.03° { N1 125(200)
} _ 254720 Ni
iy ZABD =61.03° 2000
Area of AABD | = 127.36
= -;—(9.5)(12.9126)sin 61.03° K1 0 Iﬁ
i) =27 »100 =127.36
= 53.6602 W 500100 =1
Area of quadrilateral Osony = 57312.00
=29 + 53.6602 Ki : 120 Ki
= 82.6602 ¢) Iy, =——x127.36
NI = 100 N1
— = 152,83 .
10 10
15a) I : 3x +6y >7200 N1 15¢) i) maximum Q=115 NI
II'': ¥y <x+100 N1
I x+y<350 N1 i) (125, 225) N1
b) refer graph Total profit = 10(125) + 12.50(225) | K1
- Use correct and consistant = RM 4062.50 N1
scale + draw a line correctly K1 .
- Draw the three lines correctly NI 10
- correct region N1




Graph for Question 15
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